Chapter 11-4 ?’s – MEIOSIS (11-4)


       

NAME ___________________________
Cells undergo meiosis to _____________________.


A.  grow bigger


B.  repair injuries


C.  replace worn out cells


D.  make gametes

The pairing up of homologous chromosomes during meiosis is called _______________.


A.  crossing over


B.  synapsis 

C.  independent assortment

D.  binary fission
The group of 4 chromatids that forms during synapsis is called a _____________.


A.  biad


B.  triad


C.  tetrad


D.  quadrad

The exchange of genetic material between arms of homologous chromosomes is called


A.  synapsis


B.  independent assortment


C.  asexual reproduction


D.  crossing over

The pairing up of maternal and paternal chromosomes (synapsis) during meiosis happens in ___________________.

A.  prophase I 

B.  metaphase I

C.  prophase II


D.  interphase II

During meiosis, crossing over happens in __________________________.


A.  prophase I


B.  metaphase I


C.  prophase II


D.  interphase II

During meiosis, independent assortment happens in _______________________.


A.  metaphase I


B.  anaphase I


C.  anaphase II


D.  telophase II

BEFORE PROPHASE I, chromatid arms in a chromosome are 
        A. identical
        B. similar but NOT identical

AFTER PROPHASE I, chromatid arms in a chromosome are 
        A. identical
        B. similar but NOT identical


What happens in Prophase I, to cause this change in the chromatids?  _________________________

_______________is a kind of cell division that produces haploid cells with ½ the number of chromosomes of the parent cell.


A, mitosis


B. meiosis
In MEIOSIS a 2n parent cell divides to produce ____________________.


A.  four identical 2n cells

B.  two identical 2n cells

C.  two identical 1n cells

D.  four different 1n cells
During oogenesis, the cytoplasm is divided UNEVENLY so that only one mature egg is produced along with three _____________________.


A.  polar bodies


B.  diploid cells


C.  zygotes


D.  spermatids
The production of mature sperm cells is called _________________________.


A.  oogenesis


B.  spermo-synthesis


C.  spermosis 

D.  spermatogenesis
The separation of maternal (mom) and paternal (dad) homologous chromosomes during anaphase I is called 
         A. crossing over

B. segregaton
C. independent assortment

D. synapsis
The mixing up of maternal and paternal chromosomes in different combinations during anaphase I is called
         A. crossing over

B. segregation
C. independent assortment

D. synapsis

The production of offspring from one parent without joining gametes is called ___________________ reproduction.

A. sexual 


B. asexual 
What happens to the polar bodies made during oogenesis?


A. They go on to become eggs

B. They undergo apoptosis

C. They use mitosis to grow bigger

Meiosis occurs in which kind of cells?
        A. all body cells
        B. only the testes and ovaries
        C. only in prokaryotes not eukaryotes
        
NAME three processes that happen during meiosis which result in genetic recombination so that the 4 daughter cells have DIFFERENT DNA from each other and from the parent cell.
___________________________
   ___________________________        ________________________
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